e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 3 info@parsrot.com




Rot sy

= [and
LOGAN (LS)
DAC-12301 DAC-12302
Rotbasi Rotbasi
At On Sag On Sol
Mﬂ M14x1,5Rht  M14x1,5Rht
6001550443 6001550442
|
KS 91-14 RN-11585
Z-Rot Rotil
On On
8200891487 ~ D=218mm
82002984558
|
DAC-13303 DAC-16307
Rot Mili Rotilli Salincak
wf On  OnSagAlt
M14x1,5-L=193mm 8200216376
6001547606
|
DAC-16308 DAC-16307N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
8200216376 8200216376
|
DAC-16308N DAC-18300
Rotilsiz Salincak Salincak Tamir Kiti
On Sol Alt On
8200216376 DC-301/DC-302/DC-303
DAC-20611
Salincak Burcu
On Sag Alt ig
6040002245
LOGAN Il
|
DAC-20611 KS 91-14
Salincak Burcu Z-Rot
On Sag Alt ig On
6040002245 8200891487

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

DACIA

2004-2012

2012 after

parsrot.com

4

info@parsrot.com



Rot sy

= Land DACIA
e ==
LOGAN Il 2012 after
RN-16788 RN-16789
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
545007106R  545011727R
DAC-12302 RN-13783
Rotbasi Rot Mili
On Sol On
M M14x1,5Rht  M14X1,5-L=193mm
6001550442  485213172R
——
RN-11780 DAC-12301
Rotil Rotbasi
On On Sag .
545041327R ~ M14x1.5Rht h
6001550443

DAC-12301 DAC-12302
Rotbasi Rotbasi
pr OnSag  On Sol
b = M14x1,5Rht M14x1,5Rht
6001550443 6001550442
(3 RN-11585 DAC-18300
Rotil Salincak Tamir Kiti
On On
D=@18mm DC-301/DC-302/DC-303
8200298455S
KS 1514 DAC-16308N
Z-Rot Rotilsiz Salincak
On On Sol Alt
7700799404 8200216376
DAC-16307N DAC-16308
Rotilsiz Salincak Rotilli Salincak
On Sag Alt On Sol Alt
8200216376 8200216376

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

2007-2013

info@parsrot.com



Rot sy

= [and DACIA
LOGAN MCV (KS) 2007-2013
|
DAC-16307 DAC-13303
Rotilli Salincak Rot Mili
On Sag Alt On -Em:_-,
8200216376 M14x1,5-L=193mm
6001547606
|
DAC-20611
Salincak Burcu
On Sag Altig
6040002245
PICK-UP 1975-2006
|
DAC-13103 DAC-23101103
Rot Mili Rot Takimi
On On i é
M14x1.5-L=195mm 6001537195 — )
6001545023
|
DAC-12101 RN-11304 o
Rotbasgl Rotil =1
On On "
M14x15 7701460885
6001546523
|
RN-11305 RN-16326
Rotil Rotilli Salincak
On Alt On Ust D
7701460886 7701552545
|
RN-16327 RN-14307
Rotilsiz Salincak Z-Rot
Aka  On “tg
FrontLowerRear L=97mm !
7700504459 7701453465
.|
DAC-20141
- Salincak Burcu
Ust
7701348300

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 6 info@parsrot.com



Rot sy

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

mw Land DACIA
SANDERO | 2008-2012
|
DAC-18300 DAC-13303
— Salincak Tamir Kiti Rot Mili
On On -Er.z_'l
DC-301/DC-302/DC-303 M14x1,5-L=193mm
6001547606
|
DAC-16307 DAC-16308
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
8200216376 8200216376
|
DAC-16307N DAC-16308N
—_— Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
8200216376 8200216376
o RN-11585 KS 91-14
Rotil Z-Rot
On On
D=018mm 8500891487
82002984558
DAC-12302 DAC-12301
Rotbasi Rotbasi
On Sol On Sag k1
M M14x1,5Rht M14x1,5Rht M
6001550442 6001550443
| |
DAC-20611
Salincak Burcu
On Sag Alt ig
6040002245
SANDERO | 2013 after
| |
DAC-20611 DAC-12301
Salincak Burcu Rotbasi
OnSagAltic  On Sag k1
6040002245 ~ M14x1,5Rnt E
6001550443

parsrot.com

7

info@parsrot.com



Rot sy

= Land DACIA
]
SANDERO Il 2013 after

. |

RN-11780 RN-13783
—— Rotil Rot Mili
\ On On
545041327R M14X1,5-L=193mm
485213172R

KS 91-14 RN-16789
Z-Rot Rotilli Salincak
On On Sol Alt
8200891487 545011727R

|
RN-16788
Rotilli Salincak
On Sag Alt
545007106R
SOLENZO (S.NOVA) 2003-2007

DAC-12101 RN-16225

Rotbasi Rotilli Salincak

——
o
: On  OnSag Al
I 4 M14x15 7700783449

6001546523

RN-16226 RN-16225N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
7700783450 7700783449

RN-16226N DAC-13203
Rotilsiz Salincak Rot Mili

On Sol Alt On
7700783449 ManuelSteering M14x1,5-L=271mm

6001548426

DAC-13204 DAC-23101203

Rot Mili Rot Takimi
—_H—-—__ﬂ_-?""ﬁ:= On On
TRWSt.Pow.St. M14x1,5L=285mm 6001546554
6001546524

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 8 info@parsrot.com



Rot sy

== Land DACIA
I —————————
SOLENZO (S.NOVA) 2003-2007
|
RN-11203 DAC-20144
Rotil Salincak Burcu £
On Alt Alt !
D=@16mm-Hole:&310,5mm-J12,6mm 7704000681
7701468883

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 9 info@parsrot.com






